RETAN BE#ES#E 37T 02
1. RXRoAXZ2RESEEX. (S50, A2, Bfkam, CHE795308)

(1) a? 4+ b2 + 2 — 2ab + 2bc — 2ca

(2) (+y+2)+ (zy+yz+ zzx) +zyz + 1
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2. ROXZNEIEEX. (SH15308, A3, B#k6sr, C# 1047 )

(1) a? + 4b% + 9¢% + 4ab + 12bc + 6ca

(2) (x+y+2)(xy +yz+ za) —2yz
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RETAN BE#ESEE 37T 02 BEESR
1. RXRoAXZ2RESEEX. (S50, A2, Bfkam, CHE795308)

(1) a? 4+ b2 + 2 — 2ab + 2bc — 2ca
=(—a+b+c)?
Yo il fi

(a—b—0c)? THIW. ZD220O0XDPFETH S Z LICHEEL LI

KA
(a+b+e)? A A=Y LEDNS, EXFOEARELSLEIRIDERLS.

Yol gk
53 =a? — 2a(b+¢) + b? + 2bc + 2

=a%—2a(b+c)+ (b+c)?
—{a— b+’

(2)  (r4+y+2)+(xy+yz+z22)+ayz+1

=zyzt+axyt+zrx+rx+yz+y+z+1
=z(yz+ty+z+)+Wz+y+z+1)
=(x+D)(yz+y+z+1)

=(z+1)@+1)(2+1)

* EAGES, & 53T ARL.
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2. RXROAXZHRESMEX. (SH1530%, A3, B#6s, C#H 1047 )

(D) a? + 4b% + 9¢% + 4ab + 12bc + 6ca

=a? + (2b)% + (3b)% + 2a(2b) + 2(2b)(3c) + 6(3c)a

= (a + 2b + 3c)?

* A

(a+b+c)? ZA A=Y LAWBS, BXTFORBEEADEEIRDIDEZILT.
Sl ffik

53 = a? + 2a(2b + 3¢) + 4b* + 12bc + 92

=a® + 2a(2b+ 3¢) + (2b+ 3¢)?
={a+ (2b+3¢)}°

(2) (x+y+2)(ry+yz + zx) —zyz

=22(y+ 2) + 2(y? + 22 + 2y2) + y2(y + 2)
=22(y+2) +z(y+2)% +yz(y + 2)

= {2+ (y+2)z+yz} (y+2)

=@ +y)(r+2)(y+2)

=@+y)(y+2)(z+z)

* EAGED, &5 TR AL,
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